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[From the perforated on the non-perforated; it is 7772190

Overview

A perforated flower pot (2121 7°X¥) is XN7IXTA 71702 271, while a 21p1 1°RW Po¥y is
7M7N2 21 only 112771, The mawn taught that if one was 7170 w191 from an 7oXY
2371 (which is Xn»K77 220) to exempt the produce in a 23p1 1°RW >3y (which is 22v
only 13277n), it is valid 7770, Our MpoIN explains what is meant that it is 7217n. !
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It is 7170 regarding that the 375 is not obligated to return it to the 2"7v3, and

also that the 2''77w2 is not obligated to separate anymore 72170 from the 2121 1K,

but may eat the 2121 12X based on the 72170 nwI57 from the 2123, MDD explains -
L2973 199RYY INN 1PN 798 PRT IININ DN 1929919 NRIN N12)90 29N 1D PNRT 11909

For since there is no obligation to give 7%yn for the 2p1 1XYW 1°X¥ only 333977, so

the 3229 ruled that the 221 »°Rw 1°XV needs no further preparation to enable it to
be eaten; the MmN from the 2121 y°xv is sufficient Np°n].
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The above was from >'"\n.

Summary
7170 from an 2Ip1 7OXY permits eating from the 2P 1R 7XY.

Thinking it over
What is the advantage of '01n77 " (that there is no requirement to be w>15% anymore

from the 211 1°RW), over *"w15 (that the 175 may keep it)?

!'1t is obviously not valid 7m1n in all respects since the mwn continues that the 173 may not eat it unless he is ®X1
MR Dpma "N 329 (for he was MWD Y 2R WIon).
2 See 7m0 1" "wA. See ‘Thinking it over’.
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